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23398 T Bk

1,694 kg

= eha st
WRGES . 96ikg
QEREDE=12 1x70= 847 kg
= —121kg (RUH)

‘2385 iEH 1,136 kg
BEHES 710kg
KEEEH=T.1xT0= 497kg
R = ~ Tlkg

i1, 694 +1, 136=2, 830 kg
WEs TEA ok chil R

oy ZOXU2X0T V=8 0KMytr
' - 130 '
FER=—g g7 =0.9%
i) EEE 100M GE 095l TR

Ed el 285 1,089kg
Wbt 968 kg
ammE 0
AT 121 kg

A SN 78lkg
WRES 710kg
GRS . °
Pt © Ttkg

Missc1, 089+781=1, 8704y
BEolok ¢k V=95KM/hr = uwl
 BER= gL =0. 635
TR = (1) + (i) + (1) +(iv) +(v) +(vi)
 =0,88+0,82+2,54+1, 07+0,97
+0,63=6 8625
Cms=6, 86+2, 5=9, 365

4714 FRaQE B 17T0M, QF 10% K
WSl AR R W MESL M v
- Pm=12,1, f=700, Ej=5,572kg
B, 572 <12,1 x 700=8, 470
Ej<Pmefloe s ~34sa ek g

1okt

£=0,9, =09, E=09, Cm=9 36
c. EREH

BRI H=6m:pn

WRhzs B=60%

RMR/EE Q=111M/hrz §

MRS =—2 =073
8 7x43x30

At RERR= "6 x60%41, 1 =0.76
XNR AR
PRt : 0.57x0, 730,264 x330=0,09G/A x

330HW,/GA=29, 70 BW

52,90, 19272 x 184=10, 19 184=1,

874% uw

12, 8/x0, 19272 x 680=30. 54 x 680=367

0w ‘

: 1,210, 19272 x 680=0, 23x630_156
Opw

: 0,19 #x0,73% 344=0, 18 uxau_u
2pw

:0.194x0, 73x]50_0 13x150-19
SOpgw

: 2.8A%0, 76x1, 300—-2 12x1, 300=2,

756 HW

1. 2A X0, 76x970=0, 91 x 970=88270

m . .

1.2A %0, 76%650=0, 91 x 650-=59150

HW
6, 7258w
M KR 67, ”HW

Mg c@mﬁ_—ﬁ—l—, =179" HW

| MUK BRBE Bk s EEsa
TTER=GEH+ENR+BESR
' =179, 314678425271 sHW L))

e #H:

)

N2
B o

A F:

weA

PR
T BT TR T
b. waaﬁ-eo@ﬁf %:ﬁE BRSRbTE  AERAE
80xqxfxf x ; .
B e s
-.8.8x0, 9’;°3g>‘° 9x60_41 1 Mo hr  Bulldozer +-T¢] i R WTH: S/

a=11,5YDsx 0, 7646=5_8 M3
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